StringTokenizer
public StringTokenizer(String str)
StringTokennizer class splits a String into different tokens by defined delimiter (space, tab, new line are default delimiters). 

public StringTokenizer(String str, String delim)
Constructs a string tokenizer for the specified string. The characters in the delim argument are the delimiters for separating tokens. Delimiter characters themselves will not be treated as tokens.

public String nextToken()
Returns the next token one after another from StringTokenizer.

public boolean hasMoreTokens()
Checks whether there are any more tokens available in StringTokenizer. Returns true if the availability of at least one more token is found in the string after the current position; otherwise returns false.
Example. Print the space separated words of the sentence. Default delimiter is space.

import java.util.*;
public class Main
{
  public static void main(String []args)
  {
    StringTokenizer st = new StringTokenizer("This is a dog");
    // number of available tokens 
    System.out.println(st.countTokens());
   // tests if there are more tokens available from 
    // tokenizer’s string
    while (st.hasMoreTokens())
    {
      // returns the next token from string tokenizer
      System.out.print(st.nextToken() + " ");
    }
  }
} 
Example. String contains list of integers. Find their sum.

import java.util.*;
public class Main
{
  public static void main(String []args)
  {
    Scanner con = new Scanner(System.in);
    String s = con.nextLine(); // "2 3 4 5 6"
    StringTokenizer st = new StringTokenizer(s);
    int res = 0;
    while (st.hasMoreTokens())
      res += Integer.parseInt(st.nextToken());
    System.out.println(res);
    con.close();
  }
} 
Example. Integers are separated with ‘+’ symbol. Find their sum.

import java.util.*;
public class Main
{
  public static void main(String []args)
  {
    StringTokenizer st = new StringTokenizer("1+2+3+4","+");
    int res = 0;
    while (st.hasMoreTokens())
      res += Integer.parseInt(st.nextToken());
    System.out.println(res);
  }
} 
Example. Input line contains arithmetic expression with numbers, ‘+’ and ‘-‘ operations. Print separately the numbers and operations.

import java.util.*;
public class Main
{
  public static void main(String[] args)
  {
    Scanner con = new Scanner(System.in);
    String s = con.nextLine(); // 23+45-23-21+678-1
    StringTokenizer st1 = new StringTokenizer(s, "+-");
    StringTokenizer st2 = new StringTokenizer(s, "0123456789");
    while (st1.hasMoreTokens()) 
    {
      int x = Integer.parseInt(st1.nextToken());
      System.out.print(x + " "); // 23 45 23 21 678 1
    }
    System.out.println();
    while (st2.hasMoreTokens()) 
    {
      char ch = st2.nextToken().charAt(0);
      System.out.print(ch + " "); // + - - + -
    }
    System.out.println();
    con.close();
  }
}
E-OLYMP 1427. Calculator An arithmetic expression is given. Find its value.
►Use StringTokenizer.
